EXTERIOR BUILDING NOTES:
1. OVERALL HEIGHT IS 9'—3" (NOMINAL)

2. WALL PANELS ARE 3", 5-PLY, SB/BS 24" LONG (1> 42"X36" PICTURE
ROOF PANELS ARE 3", 4-PLY, S/BS SURFACE MOUNTED WINDOWS.
LIGHT FIXTURE 140 MPH RATED
3. APPLICATION:
EXTERIOR BUILDING

OVERALL DIMENSION 8 ——— 3" C-CHANNEL 14

4. COLORS | 7g¢ |
INTERIOR WALLS: WHITE DIRECTION ka W uﬁ
EXTERIOR WALLS: WHITE ‘% 197 LF 18” V157 v 1g” JT 107
ROOF INTERIOR & EXTERIOR: WHITE N\ ! | ., [N | | ,lJﬁ‘

DOORS: WHITE [ —— 1]
TRIM: WHITE A = L] %

STEEL BASE: BLACK
DIAMOND PLATE FLOOR: BLACK

187

220V

6. STANDARD HEIGHTS:
DUPLEX RECEPTACLE HEIGHT IS 18" ABOVE FINISHED FLOOR TO CENTER
TELE/DATA PREP HEIGHT IS 18" ABOVE FINISHED FLOOR TO CENTER
SWITCH HEIGHT IS 46" ABOVE FINISHED FLOOR TO CENTER
WINDOW HEIGHT IS 42" ABOVE FINISHED FLOOR TO BOTTOM SILL.
HVAC MOUNTING HEIGHT IS 12" ABOVE FINISHED FLOOR TO BOTTOM OF UNIT.

WIDE
18"
54

HVAC

INTERIOR

EXTERIOR
DIMENSION 4'-6"

18
STAINLESS STEEL
COUNTER

DIMENSION 47

=

OVERALL DIMENSION &

A A
b}

177 J)\

F— M6X4.4 @ 53 5/8" —p

—— C6X8.2 @ 547

ﬁ 18"
\

\

UH_N_.HO._.H_H_Z 7
OF SLIDE

_..|,.__ > | | N
g b og \mw\\\T 17 , g

cexge e 78"

INTERIOR DIMENSION 6 L'-6"X6'-6" STEEL BASE
QTY: |

COLOR - BLACK ! FORK LIFT

SLOT
SECTION A-A

DRAWING APPROVAL

QUOTED LEAD—TIME DOES NOT BEGIN UNTIL SIGNED APPROVALS HAVE BEEN RECEIVED
APPROVED (NO CHANGES) WITH COLORS CHOSEN

APPROVED WITH CHANGES WITH COLORS CHOSEN
REVISE & RESUBMIT

i

UL

9" ROOF
SIGN: DVERHANG

EXTERIOR DIMENSION 6'-6" —

ROOF
b
4

g
OVERHANG

DATE: 125 AMP, 8-SPACE,
MAIN LUG LOADCENTER,

120/240 VAC,

SINGLE PHASE, NEMA 1

A
FLOOR PLAN SPECIAL BUILDING NOTES:

1. CONSTRUCTION TYPE IS KD, (ASSEMBLED ON-SITE BY OTHERS).

3-0 X 7-0 HALF GLASS
DOOR 140 MPH RATED

2, STEEL BASE IS TO BE FORKLIFTABLE.

3. STEEL BASE IS DESIGNED TO BE CONTINUOUSLY SUPPORTED.
4, STEEL BASE IS TO BE SHIMMED IF REQUIRED FOR LEVELING
SHIMS SUPPLIED AND INSTALLED BY OTHERS.
o () 36"X36" HORIZONTAL S, STEEL BASE IS NOT DESIGNED TO BE SUPPORTED VIA PIERS,
/ W |l — SLIDING WINDOW COLUMNS, ETC,
N @ 140 MPH RATED
© / K Z A 6., STEEL BASE DECKING IS 1/8"TH STEEL DIAMOND PLATE.
N > 5
w W MWM 7. ANCHORAGE 0OF THE ASSEMELED BUILDING TO THE EXISTING
L / = SR SLAB IS THE RESPONSIBILITY 0OF OTHERS,
T / L L=
Lt T EWM = =
2 o J  pit
Lot < (€N an}
[0 s | =z CT
[ OO AmH ==
> SU% 8+ B3y
- R Ty 220
0~ - Sl
WH
§
>
= - NOTE:
/K%Ez L THIS BUILDING IS DESIGNED TO
ELEVATION A O s Sies WITHSTAND A 140 MPH WIND LOAD

ELEVATION B

LEGEND US CONSULATE GENERAL

L EXTERIOR BUILEPING
E=2 DUPLEX RECEPTACLE THIS DRAWING IS THE PROPERTY OF PANEL—BUILT, INC.
WINDOW AND MAY NOT BE USED WITHOUT EXPRESS WRITTEN

PERMISSION OF PANEL—BUILT, INC. ALL INFORMATION -

SHOWN ON THIS DRAWING IS THE PROPERTY OF JOB NUMBER: 6442
PANEL—BUILT, INC. AND MAY NOT BE USED IN WHOLE T 10_21_

DOOR OR PART WITHOUT SPECIFIC WRITTEN PERMISSION OF DATE: 10-31-2013

o PANEL—BUILT, INC. DRWN BY: & W. [CHKD BY: J. W. |PAGE: 1 OF 2




WALL PANEL
(3" TYP.)™\

INTERIOR SIDE

OF BUILDING

1/2"X4 1/4" ANCHORS

#10X1 1/2" PHILLIPS PAN HEAD SCREW
1 PER 12" LOCATED 3" FROM
TOP & 3" FROM BOTTOM

WALL PANEL

\ (3" TYP.)

EXTERIOR SIDE
OF BUILDING

/| EXTRUDED CORNER POST

CORNER POST ATTACHMENT

TOP AND BOTTOM ,z>_._.l/
x 2 1/2" BOLTS

1/2"

EXTERIOR SIDE

OF BUILDING

WOOD BLOCKING

INTERIOR SIDE
OF BUILDING

#10X1 1/2" PAN
HEAD TEK SCREW
EVERY 6" 0.C.

ALUMINUM C—CONNECTOR
FULL LENGTH OF PANEL

1/2" EXTERIOR

BOTH SIDES DIVDER STRP EXTERIOR_SIDE
OF BUILDING
AN
1 \m m T \I_..O>Z CORE
[ y
[
_
_
4 \_=\_— p| E
km.umﬁmmmx INTERIOR SIDE
16 GAUGE OF BUILDING

W/ 26 GA S.E. STEEL

STEEL CHANNEL
IN SIDES OF ALL
PANELS

1/4"X4" A307 THROUGHBOLT

W/ 1/4" X 1 1/2" ZINC SEALING

NEOPRENE WASHER. AT EVERY STEEL CHANNEL
IN WALL PANEL FOR SECURING STRAIGHT EAVE
CONNECTOR

SB/BS WALL JOINT

"C” CONNECTOR

26 GA. S.E.

STEEL /

ALUMINUM

FLEX SEAL TAPE

1/2" THICK
ALUMINUM
DIVIDER STRIP

)
R

R

V|
1

1 PER 12" N
m FINISHED
#3/8" DECK
WEEP HOLE /
< _
.040 FLASHING // N
\\\ﬂ
FIELD DRILL HOLE IN
oo Jgm DECK & C—CHANNEL
3”X3"X1/4” ANGLE
WELDED TO BASE
1 PER 12"
— 7 - . =
. . . 4
. g . .
4 a - . <. P
. . 4a .
< v a
. — FOAM CORE /]
EXTERIOR BASE CHANNEL &
ANCHOR ATTACHMENT
CAULK AROUND
TEK SCREW
3" THICK S/BS .o mm_z>_|mcnw;.__.“._%k %__-.o_unwA-_A-mm
ROOF PANEL - -
2 on e st~ Gl GO 2SR s one
r 1/ |
g N Py
z
[y
8 1 L
n 1 3=
2
(2]
n
{ —

26 GA SE STEEL
W/ 1/8" THICK
HARDBOARD BACKER

NEOPRENE TAPE BETWEEN EAVE
CONNECTOR & ROOF _u>”m_.\
3" PLASTIC TRIM

EXTRUDED ALUMINUM
STRAIGHT EAVE CONNECTOR

INTERIOR SIDE
OF BUILDING

2

SPACED

¥— 3" SB/BS WALL PANEL

1/4"X4" A307 THROUGHBOLT

W/ 1/4" X 1 1/2° ZINC SEALING

NEOPRENE WASHER. 1 PER 6

26 GA S.E. STEEL .\ 1/2" THICK

#12x1 1/4” TEK SCREW W/
STEEL/NEOPRENE WASHER
SPACED 12" O.C.

\

\

#10x1 1/2° PAN HEAD

7/16" PLASTIC TRIM
1/4"X4" A307 THROUGHBOLT

TEK SCREWS

SPACED EVERY 12" 0.C.

im ._%a.- X 1.1/2" ZINC SEALING
NEOPRENE WASHER. AT EVERY STEEL CHANNEL

IN WALL PANEL

#10x1 1/2" PAN HEAD
TEK SCREWS

EVERY 6° 0.C.

(FULL LENGTH OF WALL)

STRAIGHT EAVE CONNECTOR

9" OVERHANG TYP.

EXTERIOR SIDE
OF BUILDING

& FASCIA ATTACHMENT

EXTRUDED
ALUMINUM
FASCIA

\[
ALUMINUM M
DIVIDER STRIP ALUMINUM

1/8" HARDBOARD

"C" CONNECTOR

S/BS ROOF JOINT

US CONSULATE GENERAL

EXTERIOR BUILEPING

THIS DRAWING IS THE PROPERTY OF PANEL—BUILT, INC.
AND MAY NOT BE USED WITHOUT EXPRESS WRITTEN
PERMISSION OF PANEL—BUILT, INC. ALL INFORMATION
SHOWN ON THIS DRAWING IS THE PROPERTY OF
PANEL—BUILT, INC. AND MAY NOT BE USED IN WHOLE
OR PART WITHOUT SPECIFIC WRITTEN PERMISSION OF
PANEL—BUILT, INC.

JOB NUMBER: 6442

DATE: 10-31-2013

DRWN BY: . W. [CHKD BY: & W. |PAGE: 2 OF 2




	P1.pdf
	P2.pdf

